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1. Introduction
In RAN4#101-e meeting, NTN co-existence simulation assumptions were discussed and RAN4 agreed to consider the simulation assumptions in [1].  In this paper, we provide our simulation results for TN with NTN and NTN with TN system in all the cases captured in [1] and depicted in Table 1.
Table 1. List of study cases
	No.
	Aggressor
	Victim

	1
	TN DL
	NTN DL

	2
	TN UL
	NTN UL

	3
	NTN DL
	TN DL

	4
	NTN UL
	TN UL

	5
	NTN UL
	TN DL

	6
	TN DL
	NTN UL



2. Discussion
In this document we present our simulation results between TN and NTN for the 6 cases captured in Annex 2 in [1]. Based on the simulation results which is attached to the Annex of this document and summarized in Table 2, we have some observations as following: 
Table 2: Summary of required ACIR for all simulation cases
	No.
	Average T-Loss ACIR [dB]
	Cell edge T-Loss ACIR [dB]

	Environment
/
Satellite
	Rural
	Urban
	Rural
	Urban

	
	GEO @ EL 90
	LEO 600
	LEO 1200
	GEO @ EL 90
	LEO 600
	LEO 1200
	GEO @ EL 90
	LEO 600
	LEO 1200
	GEO @ EL 90
	LEO 600
	LEO 1200

	1
	TN DL to NTN DL
Option 1
	10
	0
	0
	38
	30
	30
	14
	4
	4
	46
	36
	36

	
	Option 2
	
	
	
	20
	12
	12
	
	
	
	28
	16
	16

	2
	TN UL to NTN UL
	20
	18
	20
	28
	24
	28
	20
	16
	18
	NAN
	20
	NAN

	3
	NTN DL to TN DL
	10
	20
	20
	0
	0
	0
	16
	26
	26
	0
	0
	0

	4
	NTN UL to TN UL
	0
	0
	0
	20
	20
	20
	8
	8
	8
	34
	34
	34

	5
	NTN UL to TN DL
	16
	16
	16
	12
	12
	12
	26
	26
	26
	20
	20
	20

	6
	TN DL to NTN UL
	26
	20
	22
	40
	34
	38
	26
	18
	20
	NAN
	NAN
	NAN



Observation 1: Coexistence in case 1, i.e., TN DL to NTN DL, is challenging in urban scenario. This is due to the NTN DL being much weaker than TN DL. In the area outside of the TN clusters where UE could receive TN signals, that UE supporting both TN and NTN functionalities shall access TN rather than NTN Therefore, a minimum isolation distance as simulation assumption is required to evaluate required ACIR in urban scenario. 
Observation 2: Based on the simulation results from Case 1, the current BS ACLR requirement will be sufficient to meet the coexistence criteria. The NTN UE ACS requirement can be the same as current TN UE requirement.
Observation 3: In case 2, TN UL and NTN UL can coexist. However, in this scenario, for the GEO and LEO 1200 cases, we observed that cell edge UEs are out of coverage since the UL SINR is less than -10 dB at 5% CDF.
Observation 4: Based on the simulation results from Case 2, the current TN UE ACLR requirement will allow to meet the coexistence criteria.  
Observation 5: The interference from NTN to TN in DL is negligible since TN has much stronger link compared to the interference from NTN. Therefore, the NTN and TN in case 3 can coexist.
Observation 6: Based on the simulation results from Case 3, the current TN UE ACS requirement will allow to meet the coexistence criteria. The NTN BS ACLR requirement should be around 26dB. 
Observation 7: In case 4, all the NTN UEs use full power so we can see similar performance from the NTN UEs in UL direction.
Observation 8: Based on the simulation results from Case 4 and given that NTN UE should be placed with a minimum isolation distance in urban scenario, the current BS ACS requirement will allow to meet the coexistence criteria. The NTN UE ACLR requirement can be the same as current TN UE requirement.
Observation 9: Based on the simulation results from Case 5, the current TN UE ACS requirement will allow to meet the coexistence criteria. Furthermore, the NTN UE ACLR requirement can be the same as current TN UE requirement.
Observation 10: In case 6, NTN cell edge UEs are out of coverage for the urban case since the UL SINR is less than -10 dB at 5% CDF. 
Observation 11: Based on the simulation results from case 6, lower elevation angles for GEO - e.g., 45 degrees - will require a tighter ACIR of about 6 to 7dB. Based on that, the NTN BS ACS requirement should be around 46 dB same as TN BS ACS requirement.
3.	Conclusion
In this paper, we provided simulation results between TN and NTN for 6 coexistences scenarios. Based on the results obtained so far, the following proposals can be made: 
Proposal 1: To use as simulation assumption the minimum isolation distance in urban scenario in Case 1 and Case 4.
Proposal 2: To use free space path loss propagation model in Case 5 between NTN UE and TN UE because the BS antenna height range in 38.901 RMa or UMa model exceeds the NTN UE antenna heigh which is 1.5 m.
Proposal 3: To not change current requirements for TN BS and TN UE. 
Proposal 4: To reuse same requirement of TN UE with NTN UE.
Proposal 5: To consider the lower elevation angles for Case 6 since this represents the worst-case scenario for NTN BS ACS.
Proposal 6: Suggest using 26 dB as NTN BS ACLR.
Proposal 7: Suggest using 46 dB as NTN BS ACS when low EL. i.e., 45 deg, is considered for case 6. 
Proposal 8: In summary, the following ACLR and ACS are proposed for NTN BS and UE:
Table 3 Summary of NTN BS and UE ACLR/ACS
	BS ACLR (dB)
	26

	BS ACS (dB)
	46

	UE ACLR (dB)
	30

	UE ACS (dB)
	33 (5/10MHz channel BW)
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Template

				Template for collecting results



						Template:

						Case #: Aggressor* to Victim*

						*Please indicate the NTN type (LEO600, LEO1200, GEO)
*Please indicate TN BS type (AAS, nonAAS)
*Please indicate the Deployment scenario (Rural, Urban)

						Required ACIR [dB]				0		2		4		6		……		34		36		38		40

						Throughput Loss		Average

								5%-tile

						Note: It’s not mandating companies to bring results for the all points within the range.









Case 1





						Template:

						Case 1: Aggressor TN DL* to Victim NTN DL*

						*NTN type (GEO) *TN BS type (AAS) *Deployment scenario (Rural)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16

						Throughput Loss		Average		19.52		15.48		11.44		8.35		6.23		4.10		3.13		2.17		1.48

								5%-tile		55.86		43.72		31.58		21.94		14.80		7.66		5.54		3.42		2.07













						Template:

						Case 1: Aggressor TN DL* to Victim NTN DL*

						*NTN type (GEO) *TN BS type (AAS) *Deployment scenario (Urban - Option 1 no isolation)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20		22		24		26		28		30		32		34		36		38		40		42		44		46		48

						Throughput Loss		Average		97.19		94.07		90.95		86.26		79.99		73.72		65.76		57.79		49.97		42.28		34.60		28.92		23.25		18.56		14.84		11.13		9.05		6.96		5.35		4.23		3.11		2.50		1.88		1.41		1.08

								5%-tile		100.00		100.00		100.00		100.00		100.00		100.00		100.00		100.00		100.00		100.00		100.00		100.00		100.00		89.68		69.05		48.42		39.03		29.64		22.57		17.81		13.05		9.63		6.20		3.85		2.58

















						Template:

						Case 1: Aggressor TN DL* to Victim NTN DL*

						*NTN type (GEO) *TN BS type (AAS) *Deployment scenario (Urban - Option 2 1.5 km isolation)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20		22		24		26		28

						Throughput Loss		Average		57.91		49.17		40.44		32.76		26.13		19.50		15.41		11.32		8.26		6.21		4.16		3.22		2.27		1.58		1.16

								5%-tile		100.00		100.00		100.00		100.00		100.00		100.00		72.34		44.68		27.01		19.33		11.66		9.31		6.96		5.20		4.03











						Template:

						Case 1: Aggressor TN DL* to Victim NTN DL*

						*NTN type (LEO1200) *TN BS type (AAS) *Deployment scenario (Rural)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16

						Throughput Loss		Average		4.67		3.56		2.45		1.67		1.20		0.74		0.56		0.37		0.25

								5%-tile		7.62		5.40		3.18		1.82		1.33		0.83		0.66		0.50		0.33











						Template:

						Case 1: Aggressor TN DL* to Victim NTN DL*

						*NTN type (LEO1200) *TN BS type (AAS) *Deployment scenario (Urban - Option 1 no isolation)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20		22		24		26		28		30		32		34		36		38

						Throughput Loss		Average		76.66		69.31		61.96		54.51		46.97		39.44		33.35		27.26		22.11		17.92		13.73		11.23		8.72		6.76		5.33		3.90		3.14		2.39		1.80		1.38

								5%-tile		100.00		100.00		100.00		100.00		100.00		100.00		100.00		100.00		92.64		77.91		63.18		50.11		37.04		26.47		18.41		10.35		8.14		5.94		4.31		3.25











						Template:

						Case 1: Aggressor TN DL* to Victim NTN DL*

						*NTN type (LEO1200) *TN BS type (AAS) *Deployment scenario (Urban - Option 2  1.5 km isolation)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20

						Throughput Loss		Average		24.24		19.48		14.72		11.03		8.41		5.78		4.48		3.18		2.23		1.64		1.04

								5%-tile		72.18		60.69		49.20		38.32		28.04		17.76		12.89		8.02		4.89		3.51		2.12











						Template:

						Case 1: Aggressor TN DL* to Victim NTN DL*

						*NTN type (LEO600) *TN BS type (AAS) *Deployment scenario (Rural)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16

						Throughput Loss		Average		4.79		3.63		2.47		1.65		1.18		0.70		0.52		0.34		0.22

								5%-tile		8.91		6.31		3.70		2.00		1.20		0.40		0.28		0.15		0.08











						Template:

						Case 1: Aggressor TN DL* to Victim NTN DL*

						*NTN type (LEO600) *TN BS type (AAS) *Deployment scenario (Urban - Option 1 no isolation)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20		22		24		26		28		30		32		34		36		38

						Throughput Loss		Average		76.55		69.15		61.74		54.28		46.76		39.23		33.15		27.06		21.95		17.80		13.65		11.16		8.68		6.73		5.32		3.92		3.15		2.39		1.80		1.39

								5%-tile		100.00		100.00		100.00		100.00		100.00		100.00		100.00		100.00		92.22		76.65		61.09		49.17		37.25		27.26		19.20		11.14		8.53		5.91		4.01		2.84











						Template:

						Case 1: Aggressor TN DL* to Victim NTN DL*

						*NTN type (LEO600) *TN BS type (AAS) *Deployment scenario (Urban - Option 2  1.5km isolation)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20

						Throughput Loss		Average		23.99		19.27		14.55		10.90		8.30		5.71		4.42		3.14		2.20		1.61		1.02

								5%-tile		73.18		61.39		49.59		38.04		26.73		15.42		10.53		5.65		2.74		1.81		0.88











Case 2









						Template:

						Case 2: Aggressor TN UL* to Victim NTN UL*

						*NTN type (GEO) *TN BS type (AAS) *Deployment scenario (Rural)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20

						Throughput Loss		Average		100.00		95.90		91.79		79.21		58.16		37.11		27.73		18.36		11.87		8.27		4.66

								5%-tile		100.00		100.00		100.00		100.00		100.00		100.00		64.90		29.81		10.67		7.50		4.32













						Template:

						Case 2: Aggressor TN UL* to Victim NTN UL*

						*NTN type (GEO) *TN BS type (AAS) *Deployment scenario (Urban)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20		22		24		26		28		30

						Throughput Loss		Average		99.84		98.86		97.88		94.55		88.87		83.20		71.49		59.79		48.11		36.46		24.81		18.43		12.06		7.70		5.34		2.98

								5%-tile		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN













						Template:

						Case 2: Aggressor TN UL* to Victim NTN UL*

						*NTN type (LEO1200) *TN BS type (AAS) *Deployment scenario (Rural)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20

						Throughput Loss		Average		81.01		70.23		59.45		48.84		38.42		27.99		21.30		14.61		9.80		6.86		3.92

								5%-tile		100.00		78.49		56.98		41.17		31.04		20.92		15.57		10.22		6.54		4.53		2.52













						Template:

						Case 2: Aggressor TN UL* to Victim NTN UL*

						*NTN type (LEO1200) *TN BS type (AAS) *Deployment scenario (Urban)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20		22		24		26		28		30

						Throughput Loss		Average		98.56		94.98		91.41		85.27		76.57		67.87		56.96		46.04		36.20		27.43		18.65		13.99		9.33		6.07		4.21		2.35

								5%-tile		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN













						Template:

						Case 2: Aggressor TN UL* to Victim NTN UL*

						*NTN type (LEO600) *TN BS type (AAS) *Deployment scenario (Rural)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20

						Throughput Loss		Average		68.75		57.55		46.35		36.36		27.58		18.79		14.14		9.49		6.22		4.33		2.44

								5%-tile		100.00		100.00		100.00		100.00		100.00		100.00		61.65		23.31		3.50		2.24		0.97













						Template:

						Case 2: Aggressor TN UL* to Victim NTN UL*

						*NTN type (LEO600) *TN BS type (AAS) *Deployment scenario (Urban)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20		22		24		26		28		30

						Throughput Loss		Average		89.76		81.83		73.90		64.72		54.30		43.88		34.93		25.99		18.93		13.75		8.58		6.35		4.12		2.60		1.80		0.99

								5%-tile		100.00		100.00		100.00		100.00		100.00		100.00		64.61		29.23		9.97		6.85		3.73		2.79		1.86		1.20		0.82		0.44

















Case 3





						Template:

						Case 3: Aggressor NTN DL* to Victim TN DL*

						*NTN type (GEO) *TN BS type (AAS) *Deployment scenario (Rural)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16

						Throughput Loss		Average		19.81		15.65		11.48		8.25		5.96		3.67		2.70		1.74		1.09

								5%-tile		57.20		46.40		35.59		26.64		19.54		12.44		9.23		6.02		3.81













						Template:

						Case 3: Aggressor NTN DL* to Victim TN DL*

						*NTN type (GEO) *TN BS type (AAS) *Deployment scenario (Urban)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16

						Throughput Loss		Average		0.32		0.23		0.15		0.09		0.06		0.03		0.02		0.01		0.01

								5%-tile		0.31		0.22		0.13		0.07		0.05		0.03		0.02		0.02		0.02













						Template:

						Case 3: Aggressor NTN DL* to Victim TN DL*

						*NTN type (LEO1200) *TN BS type (AAS) *Deployment scenario (Rural)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20		22		24		26		28

						Throughput Loss		Average		49.87		44.05		38.23		32.46		26.76		21.06		16.71		12.37		8.96		6.50		4.04		2.99		1.93		1.22		0.84

								5%-tile		100.00		93.27		86.54		78.56		69.32		60.08		48.98		37.89		28.63		21.21		13.78		10.20		6.62		4.20		2.92













						Template:

						Case 3: Aggressor NTN DL* to Victim TN DL*

						*NTN type (LEO1200) *TN BS type (AAS) *Deployment scenario (Urban)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16

						Throughput Loss		Average		2.65		1.99		1.34		0.88		0.61		0.35		0.26		0.16		0.10

								5%-tile		3.83		2.80		1.77		1.07		0.70		0.33		0.23		0.14		0.08













						Template:

						Case 3: Aggressor NTN DL* to Victim TN DL*

						*NTN type (LEO600) *TN BS type (AAS) *Deployment scenario (Rural)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20		22		24		26		28

						Throughput Loss		Average		49.83		44.00		38.18		32.42		26.72		21.02		16.68		12.34		8.94		6.48		4.03		2.98		1.93		1.21		0.84

								5%-tile		100.00		93.26		86.51		78.52		69.29		60.05		48.91		37.78		28.51		21.12		13.72		10.16		6.60		4.18		2.89













						Template:

						Case 3: Aggressor NTN DL* to Victim TN DL*

						*NTN type (LEO600) *TN BS type (AAS) *Deployment scenario (Urban)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16

						Throughput Loss		Average		2.66		2.00		1.34		0.88		0.62		0.35		0.26		0.16		0.10

								5%-tile		3.98		2.90		1.81		1.08		0.71		0.33		0.24		0.14		0.08





















Case 4





						Template:

						Case 4: Aggressor NTN UL* to Victim TN UL*

						*NTN type (GEO) *TN BS type (AAS) *Deployment scenario (Rural)

						Required ACIR [dB]				0		2		4		6		8		10

						Throughput Loss		Average		2.69		2.18		1.66		1.26		0.98		0.70

								5%-tile		12.05		9.59		7.13		5.31		4.14		2.96













						Template:

						Case 4: Aggressor NTN UL* to Victim TN UL*

						*NTN type (GEO) *TN BS type (AAS) *Deployment scenario (Urban)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20		22		24		26		28		30		32		34

						Throughput Loss		Average		27.12		23.83		20.55		17.65		15.13		12.60		10.78		8.96		7.42		6.18		4.93		4.11		3.29		2.63		2.12		1.62		1.32		1.02

								5%-tile		100.00		92.92		85.84		78.06		69.58		61.10		53.09		45.07		37.77		31.20		24.62		20.07		15.53		12.02		9.55		7.08		5.83		4.58













						Template:

						Case 4: Aggressor NTN UL* to Victim TN UL*

						*NTN type (LEO1200) *TN BS type (AAS) *Deployment scenario (Rural)

						Required ACIR [dB]				0		2		4		6		8		10

						Throughput Loss		Average		2.69		2.18		1.66		1.26		0.98		0.70

								5%-tile		12.05		9.59		7.13		5.31		4.14		2.96













						Template:

						Case 4: Aggressor NTN UL* to Victim TN UL*

						*NTN type (LEO1200) *TN BS type (AAS) *Deployment scenario (Urban)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20		22		24		26		28		30		32		34

						Throughput Loss		Average		27.11		23.83		20.55		17.65		15.12		12.60		10.78		8.96		7.42		6.17		4.93		4.11		3.29		2.63		2.12		1.62		1.32		1.02

								5%-tile		100.00		92.92		85.84		78.06		69.58		61.10		53.08		45.06		37.77		31.19		24.61		20.07		15.53		12.02		9.55		7.08		5.83		4.58













						Template:

						Case 4: Aggressor NTN UL* to Victim TN UL*

						*NTN type (LEO600) *TN BS type (AAS) *Deployment scenario (Rural)

						Required ACIR [dB]				0		2		4		6		8		10

						Throughput Loss		Average		2.69		2.18		1.66		1.26		0.98		0.70

								5%-tile		12.05		9.59		7.13		5.31		4.14		2.96













						Template:

						Case 4: Aggressor NTN UL* to Victim TN UL*

						*NTN type (LEO600) *TN BS type (AAS) *Deployment scenario (Urban)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20		22		24		26		28		30		32		34

						Throughput Loss		Average		26.96		23.69		20.42		17.53		15.02		12.51		10.70		8.89		7.37		6.13		4.89		4.08		3.26		2.61		2.10		1.60		1.31		1.01

								5%-tile		100.00		92.83		85.66		77.81		69.30		60.79		52.77		44.75		37.47		30.93		24.38		19.84		15.31		11.84		9.43		7.03		5.79		4.55













Case 5





						Template:

						Case 5: Aggressor NTN UL* to Victim TN DL*

						*NTN type (GEO) *TN BS type (AAS) *Deployment scenario (Rural)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20		22		24		26

						Throughput Loss		Average		31.27		26.14		21.02		16.63		12.99		9.36		7.32		5.28		3.78		2.81		1.84		1.42		0.99		0.68

								5%-tile		84.82		76.58		68.35		59.00		48.54		38.08		30.80		23.52		17.84		13.74		9.65		7.54		5.42		3.84











						Template:

						Case 5: Aggressor NTN UL* to Victim TN DL*

						*NTN type (GEO) *TN BS type (AAS) *Deployment scenario (Urban)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20		22

						Throughput Loss		Average		19.27		15.78		12.29		9.47		7.33		5.19		4.07		2.94		2.12		1.59		1.06		0.82

								5%-tile		50.65		42.12		33.59		26.62		21.18		15.75		12.71		9.67		7.29		5.56		3.83		3.08











						Template:

						Case 5: Aggressor NTN UL* to Victim TN DL*

						*NTN type (LEO1200) *TN BS type (AAS) *Deployment scenario (Rural)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20		22		24		26

						Throughput Loss		Average		31.27		26.14		21.02		16.63		12.99		9.36		7.32		5.28		3.78		2.81		1.84		1.42		0.99		0.68

								5%-tile		84.82		76.58		68.35		59.00		48.54		38.08		30.80		23.52		17.84		13.74		9.65		7.54		5.42		3.84











						Template:

						Case 5: Aggressor NTN UL* to Victim TN DL*

						*NTN type (LEO1200) *TN BS type (AAS) *Deployment scenario (Urban)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20		22

						Throughput Loss		Average		19.27		15.78		12.28		9.47		7.33		5.19		4.07		2.94		2.12		1.59		1.06		0.82

								5%-tile		50.65		42.12		33.59		26.62		21.18		15.75		12.71		9.67		7.29		5.56		3.83		3.08











						Template:

						Case 5: Aggressor NTN UL* to Victim TN DL*

						*NTN type (LEO600) *TN BS type (AAS) *Deployment scenario (Rural)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20		22		24		26

						Throughput Loss		Average		31.27		26.14		21.02		16.63		12.99		9.36		7.32		5.28		3.78		2.81		1.84		1.42		0.99		0.68

								5%-tile		84.82		76.58		68.35		59.00		48.54		38.08		30.80		23.52		17.84		13.74		9.65		7.54		5.42		3.84











						Template:

						Case 5: Aggressor NTN UL* to Victim TN DL*

						*NTN type (LEO600) *TN BS type (AAS) *Deployment scenario (Urban)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20		22

						Throughput Loss		Average		19.12		15.65		12.18		9.38		7.26		5.14		4.02		2.91		2.09		1.57		1.05		0.81

								5%-tile		50.38		41.89		33.40		26.45		21.06		15.66		12.65		9.64		7.27		5.55		3.83		3.07











Case 6





						Template:

						Case 6: Aggressor TN DL* to Victim NTN UL*

						*NTN type (GEO @ EL = 90 deg) *TN BS type (AAS) *Deployment scenario (Rural)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20		22		24		26		28

						Throughput Loss		Average		100.00		100.00		100.00		97.89		93.68		89.47		68.51		47.56		32.40		23.03		13.66		10.07		6.47		4.04		2.78

								5%-tile		100.00		100.00		100.00		100.00		100.00		100.00		100.00		100.00		82.52		47.55		12.58		9.27		5.97		3.72		2.54











						Template:

						Case 6: Aggressor TN DL* to Victim NTN UL*

						*NTN type (GEO @ EL = 90 deg) *TN BS type (AAS) *Deployment scenario (Urban)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20		22		24		26		28		30		32		34		36		38		40

						Throughput Loss		Average		100.00		100.00		100.00		100.00		100.00		100.00		99.76		99.53		98.29		96.04		93.79		85.09		76.39		65.34		51.94		38.54		29.45		20.36		13.68		9.40		5.13

								5%-tile		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN











						Template:

						Case 6: Aggressor TN DL* to Victim NTN UL*

						*NTN type (GEO @ EL = 45 deg) *TN BS type (AAS) *Deployment scenario (Rural)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20		22		24		26		28		30		32		34		36

						Throughput Loss		Average		100.00		100.00		100.00		100.00		99.99		99.98		99.18		98.38		88.85		70.59		52.32		39.11		25.89		16.77		11.73		6.69		4.88		3.07		1.87

								5%-tile		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN











						Template:

						Case 6: Aggressor TN DL* to Victim NTN UL*

						*NTN type (GEO @ EL = 45 deg) *TN BS type (AAS) *Deployment scenario (Urban)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20		22		24		26		28		30		32		34		36		38		40		42		44		46		48		50

						Throughput Loss		Average		100.00		100.00		100.00		100.00		100.00		100.00		100.00		100.00		99.94		99.82		99.70		98.92		98.14		95.47		90.91		86.34		74.52		62.70		50.81		38.84		26.88		20.29		13.70		9.01		6.22		3.43

								5%-tile		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN











						Template:

						Case 6: Aggressor TN DL* to Victim NTN UL*

						*NTN type (LEO1200) *TN BS type (AAS) *Deployment scenario (Rural)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20		22		24		26		28

						Throughput Loss		Average		89.84		79.05		68.26		57.54		46.88		36.23		28.14		20.06		13.99		9.93		5.87		4.31		2.74		1.69		1.16

								5%-tile		100.00		83.20		66.40		51.91		39.73		27.56		20.63		13.70		8.85		6.08		3.31		2.40		1.50		0.91		0.66











						Template:

						Case 6: Aggressor TN DL* to Victim NTN UL*

						*NTN type (LEO1200) *TN BS type (AAS) *Deployment scenario (Urban)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20		22		24		26		28		30		32		34		36		38		40

						Throughput Loss		Average		100.00		99.94		99.89		99.44		98.61		97.78		93.70		89.62		83.13		74.23		65.32		54.39		43.45		33.79		25.41		17.02		12.73		8.45		5.47		3.79		2.11

								5%-tile		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN











						Template:

						Case 6: Aggressor TN DL* to Victim NTN UL*

						*NTN type (LEO600) *TN BS type (AAS) *Deployment scenario (Rural)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20		22		24		26		28

						Throughput Loss		Average		78.14		67.58		57.03		46.81		36.93		27.05		20.75		14.45		9.85		6.95		4.05		2.97		1.89		1.17		0.80

								5%-tile		100.00		100.00		100.00		100.00		100.00		100.00		62.91		25.82		6.19		4.03		1.86		1.35		0.85		0.52		0.38











						Template:

						Case 6: Aggressor TN DL* to Victim NTN UL*

						*NTN type (LEO600) *TN BS type (AAS) *Deployment scenario (Urban)

						Required ACIR [dB]				0		2		4		6		8		10		12		14		16		18		20		22		24		26		28		30		32		34		36		38		40

						Throughput Loss		Average		100.00		99.45		98.90		96.72		92.92		89.12		80.86		72.61		63.24		52.76		42.29		33.54		24.80		17.95		13.00		8.04		5.94		3.83		2.41		1.66		0.92

								5%-tile		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN		NaN












